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HKDSE Mathematics (CORE) 

Paper 2 

Time Allowed  1 hour 15 minutes 

No. of Questions  45 

Average time spent 
on each question 1 min 40 sec (= 100 sec) 

 



Some Statistics 
Number of Questions 

CORE 

Paper 2 

 

Section 
Number & 

Algebra 

Measures, 

Shape & Space 

Data 

Handling 

2015 
A 14 12 4 

B 7 5 3 

2016 
A 14 13 3 

B 6 5 4 

2017 
A 14 13 3 

B 7 4 4 

2018 
A 13 14 3 

B 7 4 4 

2019 
A 14 13 3 

B 6 5 4 



Easy… or Easy to Get Wrong ? 

Not familiar with the identity, 

careless… 

No common factors, 

EXPAND it!!! 
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Easy… or Easy to Get Wrong ? 

Put x = 8, we have 

0×(x + α) – 6 = (8 – 9)2 + β 

                   β = –7 

Why not put x = 8 ??? 
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DSE 2017 Q8 

Put x = 4, we have 

 64 + 5m + 28 = 28m + n × 0 

       m = 4 

 

Put x = 0, then 

 0 + 4 + 28 = 0 – 4n 

         n = –8 



Easy… or Easy to Get Wrong ? 

y = ax2 + bx + c 

a  open upwards/downwards 

c  y-intercept 

𝑥 =
−𝑏

2𝑎
 axis of symmetry 

     vertex (
−𝑏

2𝑎
, ???) 
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Easy… or Easy to Get Wrong ? 

 

2 extreme data 

Q1 lower quartile 

Q2 median 

Q3 upper quartile 

Range = diff of 2 extreme data 

Inter-quartile range = Q3 – Q1 
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Easy… or Easy to Get Wrong ? 
DSE 2019 Q41 



Not really difficult, but… 

ax + by + 15 = 0 

       y = 
−𝑎

𝑏
𝑥 −

15

𝑏
 

 

Check the slope, x- and y-intercepts… 

Slope:    –1 < 
−𝑎

𝑏
 < 0  a < 0, b < 0   a > b 

x-intercept = 
−15

𝑎
 > 5  a > –3 

y-intercept = 
−15

𝑏
< 3  b < –5 
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Not really difficult, but… 

𝟑

𝟑𝒍𝒐𝒈𝒙 − 𝟐
+ 𝟕 =

𝟐

𝟐𝒍𝒐𝒈𝒙 + 𝟏
 

 
𝟐𝟏𝒍𝒐𝒈𝒙 − 𝟏𝟏

𝟑𝒍𝒐𝒈𝒙 − 𝟐
=

𝟐

𝟐𝒍𝒐𝒈𝒙 + 𝟏
 

 

   42(logx)2
 - log x – 11 = 6 log x – 4 

 

     6(log x)2 – log x – 1 = 0 

 

        (2log x – 1)(3 log x + 1) = 0 

 

  log x = 
𝟏

𝟐
   or   log x = 

−𝟏

𝟑 
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Strive for 5** 

Basic Requirement 1 

          A 

 

 

 
B                 D                   C 

 
𝐴𝑟𝑒𝑎 𝑜𝑓 ∆𝐴𝐵𝐷

𝐴𝑟𝑒𝑎 𝑜𝑓 ∆𝐴𝐷𝐶
=

𝐵𝐷

𝐷𝐶
 

Basic Requirement 2 

 

 I         II 

      ~ 
       l1        l2 

 

𝐴𝑟𝑒𝑎 𝑜𝑓 I

𝐴𝑟𝑒𝑎 𝑜𝑓 II
=

l1

l2

2
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Strive for 5** 

3x        7x      2x 

     5x     7x 

24 cm2 

∆BEX ~ ∆DAX     BX : DX = 1:6 

Area of ∆AXD = 6×24 = 144 cm2 

: 

: 

: 

: 

4cm2 

144 cm2 

77 cm2 

87 cm2 

E F C B 

X 

A 

Y 

G D 



Strive for 5** 

     y 

 

       7 

 

 

      O                     8           x 

 

 

Equation of the line is: 

7x + 8y – 56 = 0. 

But for this question… 

         

    log9y 

  

 

 

 

        O          log3x 

 

 

The equation of the line is: 

7 log3x + 8 log9y – 56 = 0. 
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Strive for 5** 

  7 log3x + 8 log9y – 56 = 0 

      log3x
7 + log9y

8 = 56 

     log3x
7 + 

𝒍𝒐𝒈𝟑𝒚𝟖

𝒍𝒐𝒈𝟑𝟗
 = 56 

   2log3x
7 + log3y

8 = 112 

   log3x
14 + log3y

8 = 112 

      x14y8 = 3112 

 So,      x7y4 = 356 
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DSE 2014 Q.11 

7.5 cm ≤ actual width < 8.5 cm 

9.5 cm ≤ actual length < 10.5 cm 

Then, what’s the answer??? 



CE 2008 Q.49 



CE 2006 Q.48 

y 

x 6 

6 

O 

A 

B 

 Centroid 



CE 2008 Q.52 

y 

x 
48 O 

A 

B(24,18) 

Orthocentre 



THANK 

YOU 


